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West Bengal State University
B.A./B.Sc./B.Com. ( Honours, Major, General ) Examinations, 2013

PART - 11

HISTORY — HONOURS
Paper - IV
( NEW & OLD SYLLABUS ) ,
Duration : 4 Hours | [ Full Marks : 100

Candidates are required to give their answers in their own words as far as practicable.
The figures in the margin indicate full marks.
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( NEW SYLLABUS )

Answer Question No. 1 and any four of the rest.

SR oY @ I (¥ (P BIA 0w e |

Group - A
frett - =
5. Answer any four of the following questioﬁs : ‘ 4 x5=20

(A (I b3 2w Ted fu :
a) What was the impact of the 'Black Death' 6n European economy ?

BTN wIfen Sofn e gy’ afefen e foet 2
b) What do you meén by the 'Military Revolution' in early modern Europe ?

i FTEIeR Afrsied AR Ko’ @i F @Ee 2
c) What were the features of humanist education ? -

WeeRm v e 5 e o

d) Who were the Huguenots ?

e 371 iy 2
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e) What do you mean by the Tudor Revolution in government ?
APRARER (0@ H0ha 2R F@1e B @I 2

f) Were the Levellers really democratic ?

Tt 5 TR sierelfEe ke 2

g) What was Galileo's contribution to modern science ?
wigfe e smfafnes s e foer 2

h) How did Locke define the nature of an ideal government ?

1% PO G A SRR FAE R SR 2
Group - B ‘
frem - 2
Answer any four of the following questions. 4 x 20 = 80
(¥ (@ b1 &tea Ted e |
Internal contradictions or long distance trade — which was mainly responsible for the

fall of Feudalism in Western Europe ?
OB FREIY A [FANER M6 — 67 TR NI HOEF &) (6! (N Wil oo 2

What do you mean by 'Price Revolution' ? What was its impact on 16th century

European economy and society ? 8+ 12

o e’ 390 fF QIRE 2 (@IeN *ord FOEIIF RIS @ SR 8o @7 e oo foet 2

Describe the varied activities of the merchants in the sixteenth century. How did they
begin to control artisanal production ? 12+8

@A *oe Afema [fva sfans «fmy v o o sifteame Seoms Fage s 9%

FE?

How far did Humanism create a secular vision of life ? To what extent was it reflected

in Renaissance painting and sculptures ? 10 + 10
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6.

10.

Would you agree that the foundation of the Tudor Monarchy by Henry VII may be

termed as a ‘new monarchy ?
ﬂwmmmmﬁ%&m% T AGSF N 5T 7

Make an assessment of the contribution of Martin Luther to the relative success of the

reformation in Germany. :
SIS GEIRR SITHEER PHEETE AFETA P00 MM SR SRETER e e |

Would you agree with G.R. Elton that the English reformation was primarily 'an act of
the state' ?

fer. @ emwmﬁﬁwmiawﬁzmww%w‘wmmw’?

What do you mean by 'Scientific Revolution' ? How far did it contribute to the

secularization of European mind ? il 8+ 12
‘ﬁwﬁm’w%@m?wﬁwm»mwﬁw ﬂm«ﬂﬁ?wﬁ_w
Ffeet 2

Analyse the nature of the 'Eng]isﬁ Civil War'.
BEENSA Ry oAPpfo Raas s+

( OLD SYLLABUS )

Answer Question No. 1 and'any four of the rest.
ST o @G3R I (T (P BIRG et Te e |
Group - A '
o - =
Answer any four of the following questions : 4x5=20
@ @ 1A eitaw Ted e

a) What is meant by the 'Tribute system' ?

S 2T IS B @R 2

b) Write a short note on the Treaty of Nanking.
TR piea Borm @l efee Dol Ry |
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c) What were the causes of the failure of the Taiping rebellion ?
wizfog Ry o drael & e o

d) Write a note on Yenan experiment.
BEW o rFe Raw @ B iy |
e) What do you mean by the Shogunate in Japanese history ?
ST BfORIET (TR 39100 3 @I 2
f) Write a note on the 'Open Door' policy in Japan.
SIS & @’ Afon Toiw @i Bl e |
g) How did Zaibatsu rise in Japan ? .
ST "SR T AW P 2t 2.
h) Analyse the background of the Washington Conference (1921-22).
SIMRIG TR (1921-22) 196 [Reet T+ |
Group - B
e - 9
Answer any four of the following questions. 4 x 20 = 80

@ @ b oHa Ted e |

Discuss the nature of gentry control on the agrarian economy of pre-modern China.

How was the control reinforced by Ching system of administration ? 10 + 10

-y Biea Py Mo S0 @i Mymem opfs S a1 b2 eprife g a4

@2 e fFera @ (e 3w 8t ?
Was the Tung Chih restoration a real restoration ?
2 sz 5 71 oFzEew e 2

How would you explain the weaknesses in the process of Chinese industrialisation in

the early 20th century ?
g =rorta conere fre Bieva Feme eifewm qderorsfer seify feeia anan sa@ 2
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S.

10.

Discuss the factors behind the rise of Warlordism in China in the early 20th century.

R Wrortia e B SRy’ meq@%wwr«n

What were the far-reaching effects of the May Fourth movement in the history of i

China ?

Bl JSRIGT (0 (1Y AR IR Forreeet [ 6 foef 2

Discuss the role of the state in Japan's economic development in the late 19th \

century.

TR 1T AT oA SARST SHTE AET Gl A e |

Bring out the salient features of Japan's Constitution of 1889. What was its |
' 10 + 10

character ? :

1889 TR TR MU A Erafer s a1 aftg 23S & fzer 2

Discuss the background and effects of the Sino-Japanese war of 1894-1895.
1894-1895 NI SIN-SI9M Y0 TGN @32 TIF WG| 5264 |

Account for the Japanese takeover of Manchuria in 1931-1932.

1931-1932-@ SN G LA wfFe=eew s |
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